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0.511 MeV
0.511 eV

P2v2 =nRT

Pv = nRT

2739C

100°C

x=ACos(wt + @)

x = ACos(wt* + @)

(B)
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(D)

3
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¢
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G ﬁ’g‘u"f“jff

P/v=nRT (A)

Pv2 = nRT (C)
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x = ASin*(wt+¢) (C)

?LQJ@J«,f(sound waves) J¥s 43l
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T=2r/w

7= 27m)2

€2 LylosT

K2 Lntlg

(B)
(D)
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(D)
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(Radio waves) J¥s# 4, (D)

Botr i3 Fe¥ (Oscillation) /% 7(]
I'=o/2r (p)

T'=2r0 (C)
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-<(Censerved) 3 S = I J(Elastic Collission)ﬂfu@w

(Chemical energy)G.1E<  (B) (Kinetic & Potential)f;/;lﬁg A
(Kinetic energy) &/1E¢ (D) (Potential enery) J./"J:&; ©
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_Jn ------------------ &,/Td/(planet)gzyu’ié%!i@wﬁflb‘i(Iaw)zf%i/‘;*f

b

(circular)/x.'// (B) (elliptica) <1 (A)
(Hyberbolic)f £ (D) (parabolic) Az (C)

-&nlje o (Density) cﬂm}/‘f/c; ui’d:‘,?/p

% (B) dy (A)

Fail (D) Sy (©

SR E— ui’(process)dj Adiabatic {1

AT R s TP (:) 2EE L (A)
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(Chemistry) Le

(Molecular Weight) uJ;u}L/KJlfw?n}%&ﬂ/’ 1.43 (Density of a Gas) umfmﬁf{ STP /’7

N7
32 (B) 16 (A)
64 (D) 48 (C)
€ (Formula) o6 (Equation) =hsl+2 L (Wave length) &»J#Z (De Broglie) ulf/.d;"
2= 2=l
i (B) o A
h h
A= m? (D) A= me? (©)

-d%m;g}‘;./ (Energy) JL"?JJ U~ (Wavelengths) Zy}"d}b‘j“ BRI
0 0
4000 4 (B) 6000 4 (A)

0 0
5000 4 (D) 4500 4 (C)

211 en (Three Quantum Numbers) :Wd“/)&%ufii (Electron) u';ﬂ.,gé (orbital) 2.l 3P,
6l (Correct Set) qé‘d £ m
m=0 , /=0 .n=3 (B) m=-1 , [=1.n=3 (p)

m=2 4 =1 =2 (D) m=1 4 [=2 n=3 (C)

s 8 (Coordination Number) wu%(?b/uw Cs* (% (Cesium Chloride) ,‘meg{“‘//;'
??ny/ (Coordination Number) wu%ﬂb/uw (cl) chloride ¥

6 (B) 4 (A)

12 (D) 8 (C)

M7 (Hybridisation) L3162 6U% (Acetylene) Mm (Graphite) o6 «(Diamond) gt

_‘at'nlg/
sp’ sl sp” P (B) sp” 5P osp’ (A)
SP i sp” <sp® (D) P sp” sp’ (C)
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t't: (Intra Molecular Hydrogen Bond) ku@df;db»é@fauﬁ (Compounds) e\ sUé s
i =

(Meta-Hydroxy Benzaldehyde) 4Ly A/ /u’@,‘g; - b (A)

(Salicylaldehyde) j;ggﬂuu‘fv (B)

(Benzaldehyde) 4Lz 4/ (C)

(Para - Hydroxy benzaldehyde) %l 4l /u’@)";g - Lk, (D)

_ug"’i (Marshalli's Acid) }}E{J%L/..f/u:(c;ui’ui
(Peroxy di Sulphuric Acid) }}J}:"”"‘Jb‘u’?{ (A)
(Peroxy mono Sulphuric Acid) }}J}:"”L‘)ru’(!'g (B)
(oleum) (231 (C)

(Pyro Sulphuric Acid) }}J%/fg (D)

?Jntfui’ (S 1 Units) Se i (Value) /J:g_»g"g! R (Gas Constant) J}“"u”y/
R=8315 JK.' mole" (B) R=8315x10" ergs. k. 'mole” (p)

R=2Calsk™. mole™ (D) R = 0.0823 lit.atm.k"tmole! (C)

Y pH §USES b Ut J#E LY (Solid Sodium Hydroxide) iflff@ﬁfg(:)‘fu};ﬂj 0.40

1
10 (B) 2 (A)
12 (D) 11 (C)

(Titration) »7be sl U (Sodium Hydroxide) %1247\ E 3wl (Oxalic Acid) 2717
_Breerte (Indicator) s iLZ LSS

(Methyl Red) £, £ 5~ (B) (Methyl Orange) &. 7K & (A)
(Phenolphthalen) ﬂu’“’dlﬁv (D) (Fluorescein) u,"’wl’ ©
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(Standard aﬁ&fdz?ﬁfomﬁi (Electro Chemical Half Cells) u?&ﬂ&gﬁzuﬁd;‘

mZne In* +2e, E° =+0.76 V o 50 A1 Reduction Potential)

_d/ng(value)/ﬁgc»’:JEMFJ(CeII Reaction)JlﬁLLl&J’Z@ﬂ Fee2 Fe™ +2e, E® =+0.44V

+0.32V (B) -0.32V (A)
+1.20 V (D) -1.20V (C)

N, +3H, &22NH;,AH =? an'zi«f&gJ AH e oS 500

(AE+2RT) (B) (AE = 2RT) (A)

(AE—ZRT) (D) (AE+RT) (©)

-‘aJL“fd/ (Irreversable Reaction) J@ijqulauﬁowéyﬂsgm

UC%LL«”"/.L (Temperature) % 10" . (Rate of a Chemical Reaction) Z,/:'JJQJ{;Q
ST SIS s 100° = 10° FE5- (s (Double)

614 (B) 112 (A)

512 (D) 400 (C)

_LLU/uﬁg/:Ln”&i'zm%/”}L (Bond Length) Md}bLJUJM c-C uﬁ.;yf/&yusgm
CH,>CH,>CH,>C,H, (B) CH>CH,>CH,>C,H, (A)

CH,>C,H,>C,H,>C.H, (D) CH,>CH,>CH,>C,H, (€)
_ugz,&u;/ (Isomerism) u%(?d/(g‘f/ CH,-CO-CH; , CH;CH, CHO ;,gf/»,

(Geometrical Isomerism) uyu(?ui&z (B) (Position Isomerism) u%(‘u'u, (A)
(Chain Isomerism) u%(?d/.ij (D) (Functional Isomerism) uy/(?g}” ©)
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Kl X SIS e
CH ’ .
3 Pass . X Ciq ChHg
/E:C\C' ‘;CO‘H H’wx«f‘/\ Nemp—p O:C\OL)L
0, (B) HNO; (p)
KMnO, (D) 0, (C)

Jk{/{ (Freon) Wk.AUlsd_s JW*IU% (Air Conditioners) U /41,131 (Referegerators) U 2 2.
f<_ " (Chemical Formula) 41>
CHCLF (B) CCLF, A)

CECI () CCLE (¢

_uga"_nd“’ lp.f/d.izg/‘c/’; Z//’d{’/ (Calcium Acetate) q’.’r'(gy t“/
HyO 1 CaCOy () H,0 ,, CO, (CaO ()

CH3;COCHj; (p) CaCO; ,, CH,CHO (c)

Z (Mono Saccharides) Jﬁf'/u?ird.gz9g¢0fauﬁ (Disaccharides) Jﬁf!/uﬂéﬁﬁLnL;uﬁJ“j

_‘al'“;u:)v&{b;
(Sucrose) u’»ﬁ (B) (Maltose) U#\ (A)
(Lactulose) J¥#'U (D) (Lactose) U#'U (C)

_Lau)/ (Peptide Bond or Linkage) ,«'aﬁfl‘gm;uﬁd;’gzp

~CO-NH, (g) -0 )
-CO-0R (D) -CO-NH (C)

_‘Lu/ (Amino Acetic Acid) &7 lse 4 S 3ouin

(Toluene) U274 (B) (Aniline) <1 (A)
(Pyridine) ¢/ £z (D) (Glycine) cf.f’JUf ©
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(Heat of Combustion) ng.w/d/ (Hydrogen) u@ﬁ;g »! (Carbon) ¢z/6 <(Methane) u:;f 99
£ (Heat of formation) ujfaﬂ/d/w;f}"u;f (Kilo Calories) 75 68 sl 94 212 Mys7
_Jngui' (Kilo Calories) Js..7
+18 (B) -18 (A)
+36 (D) -36 (C)

n&l'«. MCl, guﬁw M .w,.,g//ga H.PO,  (Formula) L€ (Phosphoric Acid) 2506100

—Exy (Formula) LLo€ (Phosphate) L6 M e los 1y
M, PO, (B) M, PO, (A)

M, (P04)3 (D) M, (P04)2 (€)

PAQAGAS
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